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I Interpretation of nyan
a 11:man, asperv.1l
i reasoning: " includes all components of 1w, Nyan must be a non-1w > DR
(a) counter: nIX is mentioned explicitly in later nywn and our mwn only deals with j1n pn
(b) Answer: that's stated to establish him as permanently Ty
(c) Therefore: the &1 RY” clause means:
(i) 7w, which pays 191, is unlike D8 who doesn’t
(if) R, who pays for 4 categories (medical, wages, shame etc.) is unlike M, which doesn’t
1. note: 0 is included in the rubric of 79y 1n7nW as he has to watch his own body
b SRmnw: v, as per v. 2
1 reasoning: MW refers to 17p (amended to Yx1) and nyan refers to v
(a) then, the ™®1 ®Y” clause means:
(i) 1P, doesn’t involve nrin, unlike v, which does; 1» doesn’t involve intent to harm, unlike 17p
(b) challenge: 17p should be inferred via yp from j» (no aggressive intent)
(i) block: could’ve been similar to damages caused by slaves (masters are exempt)
1. deflection: rule has unique reason —prevent slaves from generating liability for their masters
(c) rather, the &1 RY” clause means:
(i) 17p, intent, unlike jv, which doesn’t; 19, involves nR1n, unlike 17p, which doesn’t
2 question: why is 91 omitted?
(a) Answer: it was included under the rubric of yIrn...p> 11wV
(i) Challenge: let it be stated explicitly?
(ii) Rather: 1w (here) refers to Y»1
(b) The "&1 R85 clause means:
(i) 911 has inevitable damage, unlike j», which doesn’t; jv involves nXin, unlike 931, which doesn’t
3 question: why is 179p omitted?
(a) Answer: it was included under the rubric of yIrn...p> 11wV
(i) Challenge: let it be stated explicitly?
(if) answer: Xan only includes those pp>1a mar that are always vn
¢ Alternate suggestions — perhaps nyan means water or fire (v. 3)
i Rejection: cannot mean water (syntax of verse); cannot mean fire as nwn sets nyan and wr in apposition
II  Alternate lists of Pp 1 mar disseminated from 27 Sw w170 N2
a  RYVIR: 13 ppm mar
i 14-pymw’ ii  5-9 -battery iii  10-13 — our four
iv  note: our Rin only lists pan 'pn, #1-9 are excluded from his list (YR1W); or NYan (DTR) subsumes #1-9 (27)
b ®¥n 24 ppora mar
i 1-5-theft i 6-8-nnanm iii 9-11 —intangibles
iv. 12-24 —13 of ®ywIR "7’s list
v note: XN 1 includes also moap (considers nnmit 01y to be VI as per ¥™’'s comment on v. 5; v. 4 supports
reading 1 as one type of pn, whether he attacks a person or an animal)
¢ Question: what is the purpose of referring to mar (implying m75n) for x»n "3 and 8"?
i Answer: to pay from 1vn, inferred from the words D>’ ,nm1 ,nnn or qoa (vv. 6-9)
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